EARAROBEEIERT — 2 N— IBISH —F

201551 A28 (£) 11EIKRIA

M C2+AE C24Ah 5%—M B R
[AE£] 1% :120,000 8  2#&:24,000 M  33%&:12,000 M  43%&:9,000 3 ~ 53 :3,000H
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o 3 5 4 o4 | HER 1:28.1 4-4-3-1 | 425| — 1 531 | 1EEEHEE (KIR)
N hL—=v3> 56.0 (=) (16) | FEREBLH
RTHINEry b BT AITLXTA J—H T — L
= 423 s 4 | HEEE— 1:28.3 2-2-1-2 | 43.0| — 2 433 | fREEFN (KiR)
YYZ RII 54.0 (1 1/4) -3) T HEERK
L:yrh—r BYv=LTII-K SRS
. 5 : B4 | AHIBE 1:29.4 1-1-1-3 | 44.1| — 4 426 | 1EBEHER] (KiR)
Ea7tLxA K 54.0 @ (1) | DhBHF
R:TFATLH— XA — ML DI DS
S 4t 4 | SHARRRE 1:31.3 3-3-4-4 |45.6| — 3 473 | fREERN (KIR)
ksl %*50.0 (44 4) ) |PEE
R:/RKSvy T BIEXRbyTI1> BtHEHS
5 i 4 | BERE 1:32.0 5-5-5-5 |43.8| — 5 378 | RIIRE (KiR)
v k=23 54.0 @ o) | &) K—24T
R:aArFaqy b BivAxTIUT EvJlLyRT7—L
® I—F—@EBIERL
|S=7r= 2,5,1,4,3
Aol=5"= 2,5,1,4,3
3T—7— (2,5),4,1,3
431—F— 4,5,2,1,3
[ N5
B 4 1009 794K 4-5 100M B & 4-5 110M &R 2-4-5 190M
# B 4 1004 2-4 130M B H 4-5 140M EE 4-5-2 360M
5 140 2-5 210M

ABICOVWTRDTEEERROODE. TR LIV,




